OXY3 SPEED INSTRUCTION MANUAL
SP-OXY3-200 OXY3 Speed Fuselage, Yellow
SP-OXY3-227 OXY3 Speed Fuselage, Orange
SP-OXY3-228 OXY3 Speed Fuselage, Green

NOTE: OXY3 SPEED FUSELAGE COMPATIBLE
WITH 285MM MAIN BLADE CLASS ONLY

(OLXN7 [AIELL

page 1



OXY0307-OXY3-
BOTTOM PLATE TE

TBES2X6-M2X6
SELF TAPPING SCREW

f ._,,

GL() f «

v/ J\
ll/ﬁ;l

)

OXY0562-OXY3-CF LOW

PROFILE LANDING GEAR

TBES2X6-M2X6
SELF TAPPING SCREW

(OLXN7 [AIELL



REMOVE TAIL BLOCK

REMOVE BREAK AWAY CANOPY
& BOOM CLAMP STIFFENER

(OLXN7 [AIELL

page 3



OXY0505

OXY3 TAIL BOOM FUSELAGE
\\ \

OXY0381 ——’
|
|

TCEM2X5-M2X5
HEX CAP SCREW

SLIDE TAIL BOOM IN CASE OF NEED
TO FIND THE VERTIAL FIN AND
SIDE CASE HOES

3X TCEM2X5-M2X5
HEX CAP SCREW
(ADD LOCTITE 243)

(OLXN7 [AIELL

page 4



8 X TCEM2X8-M2X8
HEX CAP SCREW
(ADD LOCTITE )
DON'T FULLY TIGHTEN IN THIS STEP

OXY0506-OXY3
Speed Boom Stiffener

OXY0504-OXY3 Speed
Canopy Mount Female

PULL BACK TAIL ROTOR BLOCK AND
FULLY TIGHTEN 8 SCREW M2X8 IN BOOM CLAMP

(OLXN7 [AIELL

page 5



>
o
o
4
<
O
>
<
=
<
X
<
w
12
o

OXY0502 - OXY3
Speed Canopy Pusher

SELF TAPPING SCREW

TBES2X6-M2X6

TCEM2X5-M2X5

HEX CAP SCREW

(OLXN7 [AIELL



OLX7 [AIEWLT

page 7



	page 1
	Drawing View1

	2 oxy3 speed.PDF
	page 1
	Drawing View1
	Drawing View2


	3 oxy3 speed.PDF
	page 1
	Drawing View1
	Drawing View2


	4 oxy3 speed.PDF
	page 1
	Drawing View1
	Drawing View2


	5 oxy3 speed.PDF
	page 1
	Drawing View1
	Drawing View2


	6 oxy3 speed.PDF
	page 1
	Drawing View1
	Drawing View2


	7 oxy3 speed.PDF
	page 1
	Drawing View1



